F9 Financial Management

Chapter 11 Dividend Policy
	SYLLABUS
1.
Identify and discuss internal sources of finance, including:

(a)
retained earnings;

(b)
increasing working capital management efficiency.

2.
Explain the impact that the issue of dividends may have on a company’s share price.

3.
Explain the theory of dividend irrelevance.

4.
Discuss the influence of shareholder expectations on the dividend decision.

5.
Discuss the influence of liquidity constraints on the dividend decision.

6.
Define and distinguish between bonus issues and scrip dividends.

7.
Discuss the implications of share repurchase.
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1.
Internal Sources of Finance

1.1
Introduction

1.1.1
Internal sources of finance include retained earnings and increasing working capital management efficiency.

1.2
Retained earnings

1.2.1
Retained earnings is surplus cash that has not been needed for operating costs, interest payments, tax liabilities, asset replacement or cash dividends.
1.2.2
It is important not to confuse retained earnings with the accounting term “retained profit” from the income statement and statement of financial position. “Retained profit” in the accounting statements is not necessarily cash and does not represent funds that can be invested. Retained earnings in finance is the cash generated from retention of earnings which can be used for financing purposes.

1.2.3
A company may have substantial retained profits in its statement of financial position but no cash in the bank and will not therefore be able to finance investment from retained earnings.
1.2.4
Advantages and disadvantages
	Advantages
	Disadvantages

	· Retentions are a flexible source of finance;

· Does not involve a change in the pattern of shareholdings and no dilution of control;

· Have no issue costs.
	· Shareholders may be sensitive to the loss of dividends that will result from retention for re-investment, rather than paying dividends.

· There is an opportunity cost in that if dividends were paid, the cash received could be invested by shareholders to earn a return.


1.3
Increasing working capital management efficiency
1.3.1
It is important not to forget that an internal source of finance is the savings that can be generated from more efficient management of trade receivables, inventory, cash and trade payables. Efficient working capital management can reduce bank overdraft and interest charges as well as increasing cash reserves.

2.
Dividend Policy
2.1
Introduction

2.1.1
Shareholders normally have to power to vote to reduce the size of the dividend at the AGM, but not the power to increase the dividend. The directors of the company are therefore in a strong position, with regard to shareholders, when it comes to determining dividend policy. For practical purposes, shareholders will usually be obliged to accept the dividend policy that has been decided on by the directors, or otherwise to sell their shares.
2.2
Factors influencing dividend policy


(Dec 10)
2.2.1
When deciding upon the dividends to pay out to shareholders, one of the main considerations of the directors will be the amount of earnings they wish to retain to meet financing needs.
2.2.2
As well as future financing requirements, the decision on how much of a company’s profit should be retained, and how much paid out to shareholders, will be influenced by:

(a)
The need to remain profitable – dividends are paid out of profits, and an unprofitable company cannot for ever go on paying dividends out of retained profits made in the past.

(b)
The law on distributable profits – a Company Act may make companies bound to pay dividends solely out of accumulated net realized profits as in the UK.

(c)
The government which may impose direct restrictions on the amount of dividends companies can pay. For example, in the UK in the 1960’s as part of a prices and income policy.
(d)
Any dividend restraints that might be imposed by loan agreements.

(e)
The effect of inflation, and the need to retain some profit within the business just to maintain its operating capability unchanged.

(f)
The company’s gearing level – if the company wants extra finance, the sources of funds used should strike a balance between equity and debt finance.
(g)
The company’s liquidity position – dividends are a cash payment, and a company must have enough cash to pay the dividends it declares.

(h)
The need to repay debt in the near future.

(i)
The ease with which the company could raise extra finance from sources other than retained earnings – small companies which find it hard to raise finance might have to rely more heavily on retained earnings than large companies.
(i)
The signaling effect of dividends to shareholders and the financial markets in general.
	Question 1

Discuss the factors to be considered in formulating the dividend policy of a stock-exchange listed company.
(10 marks)

(ACCA F9 Financial Management December 2010 Q4(d))


2.3
Dividends as a signal to investors

2.3.1
Although the market would like to value shares on the basis of underlying cash flows on the company’s projects, such information is not readily available to investors. But the directors do have this information. The dividend declared can be interpreted as a signal from directors to shareholders about the strength of underlying project cash flows.
2.3.2
Investors usually expect a consistent dividend policy from the company, with stable dividends each year or, even better, steady dividend growth. A large rise or fall in dividends in any year can have a marked effect on the company’s share price.
2.3.3
Stable dividends or steady dividend growth are usually needed for share price stability. A cut in dividends may be treated by investors as signaling that the future prospects of the company are weak.

2.3.4
The signaling effect of a company’s dividend policy may also be used by management of a company which faces a possible takeover. The dividend level might be increased as a defence against the takeover – investors may take the increased dividend as a signal of improved future prospects, thus driving the share price higher and making the company more expensive for a potential bidder to take over.

3.
Theories of Dividend Policy



(Dec 07, Dec 09, Pilot 14)
3.1
Residual theory

3.1.1
A residual theory of dividend policy can be summarized as follows.

(a)
If a company can identify projects with positive NPVs, it should invest in them

(b)
Only when these investment opportunities are exhausted should dividends be paid.

3.2
Irrelevancy theory
3.2.1
Miller and Modigliani showed that, in a perfect capital market, the value of a company depended on its investment decision alone, and not on its dividend or financing decisions.
3.2.2
In such a market, a change in dividend policy would not affect its share price or its market capitalisation. They showed that the value of a company was maximised if it invested in all projects with a positive net present value (its optimal investment schedule).
3.2.3
The company could pay any level of dividend and if it had insufficient finance, make up the shortfall by issuing new equity.
3.2.4
Since investors had perfect information, they were indifferent between dividends and capital gains.
3.2.5
Shareholders who were unhappy with the level of dividend declared by a company could gain a ‘home-made dividend’ by selling some of their shares. This was possible since there are no transaction costs in a perfect capital market.
3.3
Traditional view

3.3.1
The traditional view of dividend policy, implicit in our earlier discussion, is to focus on the effects on share price. The price of a share depends upon the mix of dividends, given shareholders’ required rate of return, and growth.

(a)
Signaling effect

3.3.2
Dividend signaling – as mentioned in 2.3 above, an increase in dividends would signal greater confidence in the future by managers and would lead investors to increase their estimate of future earnings and cause a rise in the share price.
3.3.3
This argument implies that dividend policy is relevant. Firms should attempt to adopt a stable (and rising) dividend payout to maintain investors’ confidence.

(b)
Preference for current income (bird in the hand)

3.3.4
Many investors require cash dividends to finance current consumption. This does not only apply to individual investors needing cash to live on but also to institutional investors, e.g. pension funds and insurance companies, who require regular cash inflows to meet day-to-day outgoings such as pension payments and insurance claims. This implies that many shareholders will prefer companies who pay regular cash dividends and will therefore value the shares of such a company more highly.

(c)
Clientele effect (顧客效應)
3.3.5
In many situations, income in the form of dividends is taxed in a different way from income in the form of capital gains. This distortion in the personal tax system can have an impact on investors’ preferences.
3.3.6
From the corporate point of view this further complicates the dividend decision as different groups of shareholders are likely to prefer different payout patterns.

3.3.7
One suggestion is that companies are likely to attract a clientele of investors who favour their dividend policy. For example, higher rate tax payers may prefer capital gains to dividend income as they can choose the timing of the gain to minimize the tax burden. In this case companies should be very cautious in making significant changes to dividend policy as it could upset their investors.

3.3.8
Research in the US tends to confirm this clientele effect with high dividend payout firms attracting low income tax bracket investors and low dividend payout firms attracting high income tax bracket investors.

(d)
Information asymmetry

3.3.9
Real world capital markets are not perfect, perfect information is therefore not available, it is possible for information asymmetry to exist between shareholders and the managers of a company.

3.3.10
Dividend announcements may give new information to shareholders and as a result, in a semi-strong form efficient market, share prices may change.

	Multiple Choice Questions

1.
The 'dividends as residuals' view of dividend policy is best described as
A
dividends are paid if the company generates profits greater than the previous year (this incremental sum is the residual)

B
the profits made by the division of the company in a particular country should be paid to shareholders of the same nationality

C
dividends should amount to the entire annual profit less the amount paid in manager incentive schemes

D
dividends should only be paid out of cash flow after the company has financed all its positive NPV projects
2.
Which of the following are assumptions for Modigliani and Miller’s dividend irrelevance theory?
1
Perfect capital markets

2
No taxes or tax preferences

3
No transaction costs

4
No inflation
A
1,2,3 only

B
1,2,4 only

C
2,3,4 only

D
1,2,3,4

3.
Various views have been expressed concerning the most appropriate dividend policy for a company to adopt.
Which one of the following reflects the views expressed by Miller and Modigliani?
A
The dividend policy selected by a company should be of no consequence to shareholders.

B
Dividends should only be paid to shareholders if a company has no investment opportunities available that have the potential for positive returns.

C
A company should seek to maximise dividend payouts in order to maximise shareholder wealth.

D
Shareholders should be paid high dividends in order to have funds available to invest outside the company.
4.
Consider the following statements concerning dividend policy.
According to the Modigliani and Miller (without taxes) view of dividend policy:
1.
dividends should be distributed only when investment opportunities are exhausted.

2.
the value of a business is determined by the earning power of its assets rather than by its dividend policy.
Which one of the following combinations (true/false) concerning the above statements is correct?
Statement 1

Statement 2

A

True

True

B

True

False

C

False

True

D

False

False

5.
Consider the following statements concerning dividend policy:
1.
The traditional view states that dividends should be paid only when investment opportunities are exhausted.

2.
The Modigliani and Miller view (without taxes) states that dividend policy is irrelevant to shareholder wealth.
Which one of the following combinations (true/false) concerning the above statements is correct?
Statement 1

Statement 2

A

True

True

B

True

False

C

False

True

D

False

False

6.
In Modigliani & Miller’s Dividend Irrelevance theory, the process of ‘manufacturing dividends’ or ‘home made dividend’ refers to which of the following?
A
Dividends from manufacturing businesses.

B
Investors selling some shares to realise some capital gain.

C
Creative accounting to allow dividends to be paid.

D
Investing plans designed to create regular returns to shareholders.
7.
Which of the below best describes the signaling effect of dividend policy/announcements?
A
The current dividend policy signals future dividend patterns.

B
A dividend that is different to investor expectations signals information about the business to the investors.

C
It flags reported financial results to follow.

D
It indicates cash flow health or otherwise.
8.
Modigliani and Miller argue that
A
it is better to have the certainty of a known dividend now than the uncertainty of having to wait

B
consistency of a company's dividend stream is irrelevant as a means of affecting shareholder wealth

C
a reduction in dividend can convey 'bad news' to shareholders

D
only when a company has invested in all positive NPV projects should a dividend be paid, if there are any funds remaining
9.
The Modigliani and Miller proposition concerning dividend policy rests on a number of assumptions. These include
(i)
no share issue costs

(ii)
no bankruptcy costs

(iii)
no taxation

(iv)
no financial gearing
A
(i) and (ii)

B
(ii) and (iv)

C
(iii) and (iv)

D
(i) and (iii)
10.
Which of the following statements is true?

Statement 1:
The traditional school of thought concerning dividend policy implies that managers should adopt as high a dividend policy as possible.

Statement 2:
The Modigliani and Miller school of thought implies that managers should adopt as low a dividend policy as possible.
Statement 1

Statement 2

A

True

True

B

True

False

C

False

True

D

False

False




	Question 2 – Dividend policy in share price

Discuss whether a change in dividend policy will affect the share price of DD Co.
(7 marks)

(ACCA F9 Financial Management December 2009 Q2(d)) 


4.
Alternative to Cash Dividends
4.1
Scrip dividends



(Jun 11)
4.1.1
A scrip dividend is a dividend paid by the issue of additional company shares, rather than by cash.

4.1.2
When the directors of a company would prefer to retain funds within the business but consider that they must at least a certain amount of dividend, they might offer equity shareholders the choice of a cash dividend or a scrip dividend.

4.1.3
Advantages of scrip dividends

(a)
They can preserve a company’s cash position if a substantial number of shareholders take up the share option.
(b)
Investors may be able to obtain tax advantages if dividends are in the term of shares.

(c)
Investors looking to expand their holding can do so without incurring the transaction costs of buying more shares.

(d)
A small scrip dividend issue will not dilute the share price significantly. If however cash is not offered as an alternative, empirical evidence suggests that the share price will tend to fall.
(e)
A share issue will decrease the company’s gearing, and may therefore enhance its borrowing capacity.
4.1.4
Disadvantage of scrip dividends:
(a)
If affects in future years, because the number of shares in issue has increased, the total cash dividend will increase, assuming the dividend per share is maintained or increased.

	Question 3 – Scrip dividend
Explain the nature of a scrip (share) dividend and discuss the advantages and disadvantages to a company of using scrip dividends to reward shareholders.
(6 marks)

(ACCA F9 Financial Management June 2011 Q3(c))


4.2
Stock split

4.2.1
A stock spilt occurs where, for example, each ordinary share of $1 each is spilt into two shares of 50c each, thus creating cheaper shares with greater marketability. There is possibly an added psychological advantage, in that investors may expect a company which splits its shares in this way to be planning for substantial earnings growth and dividend growth in the future.

4.2.2
As a consequence, the market price of shares may benefit. For example, if one existing share of $1 has a market value of $6, and is then split into two shares of 50c each, the market value of the new shares might settle at, say, $3.10 instead of the expected $3, in anticipation of strong future growth in earnings and dividends.
4.2.3
The difference between a stock split and a scrip issue is that a scrip issue coverts equity reserves into share capital, whereas a stock split leaves reserves unaffected.
4.3
Share repurchase
4.3.1
Purchase by a company of its own shares can take place for various reasons and must be in accordance with any requirements of legislation.
4.3.2
For a smaller company with few shareholders, the reason for buying back the company’s own shares may be that there is no immediate willing purchaser at a time when a shareholder wishes to sell shares. For a public company, share repurchase could provide a way of withdrawing from the share market and going private.

4.3.3
Benefits of a share repurchase scheme

(a)
Finding a use of surplus cash, which may be a dead asset.

(b)
Increase in earning per share through a reduction in the number of shares in issue. This should lead to a higher share price than would otherwise be the case, and the company should be able to increase dividend payments on the remaining shares in issue.

(c)
Increase in gearing. Repurchase of a company’s own shares allows debt to be substituted for equity, so raising gearing. This will be of interest to a company wanting to increase its gearing without increasing its total long-term funding.

(d)
Readjustment of the company’s equity base to more appropriate levels, for a company whose business is in decline.

(e)
Possibly preventing a takeover or enabling a quoted company to withdraw from the stock market.
4.3.4
Drawbacks of a share repurchase scheme

(a)
It can be hard to arrive at a price that will be fair both to the vendors and to any shareholders who are not selling shares to the company.

(b)
A repurchase of shares could be seen as an admission that the company cannot make better use of the funds than the shareholders.

(c)
Some shareholders may suffer from being taxed on a capital gain following the purchase of their shares rather than receiving dividend income.
	Multiple Choice Questions

11.
Consider the following statements concerning a stock split:
A stock split will

1.
convert reserves into share capital

2.
reduce the market price of a listed company’s shares.
Which one of the following combinations (true/false) is correct?
Statement 1

Statement 2

A

True

True

B

True

False

C

False

True

D

False

False

12.
A scrip issue with perfect information

A
decreases EPS

B
decreases the debt/equity ratio of the company

C
increases individual shareholder wealth

D
increase the market price of the share

13.
Aldan Co has 2 million $0·50 ordinary shares in issue and the market capitalisation of the company is $28·0m. The company is about to make a 1-for-4 scrip issue, immediately followed by a 2-for-1 share split.
What will be the theoretical value of a share following the above transactions and the number of shares held by an investor that held 1,000 shares prior to these transactions?
Share value following transactions

No. of shares held following transactions

A

$14.00

2,500

B

$5.60

2,500

C

$8.75

625

D

$1.87

7,500

14.
Three companies (A, B and C) have the following dividend payments history:

2012

2013

2014

A – Dividend

100

110

121

A – Earnings

200

200

201

B – Dividend

50

150

25

B – Earnings

100

300

50

C – Dividend

Nil

300

NIL

C – Earnings

400

350

500

Which best describes their apparent dividend policies?

A
B
C
A

Constant growth

Constant pay-out

Residual

B

Constant pay-out

Constant growth

Residual

C

High pay-out

Residual

Random

D

Constant growth

Residual

Random

15.
Bellever Engineering plc makes a bonus issue of shares during the year.
Which one of the following will occur as a result of the issue?
A
Liquidity will be increased

B
Total shareholders’ funds will be increased

C
Earnings per share will be lowered

D
The gearing ratio will be lowered
16.
Which one of the following statements concerning financing is correct?
A
Warrant holders receive a dividend on the warrants held

B
A share repurchase will reduce distributable reserves

C
Securitisation involves converting assets that provide a future stream of income into equity

D
Preference share capital may be secured on the assets of the company
17.
A scrip dividend is
A
a dividend paid at a fixed percentage rate on the nominal value of the shares

B
a dividend paid at a fixed percentage rate on the market value of the shares on the date that the dividend is declared

C
a dividend payment that takes the form of new shares instead of cash

D
a cash dividend that is not fixed but is decided upon by the directors and approved by the shareholders
18.
Which of the following statements is correct?
A
A bonus issue can be used to raise new equity finance

B
A share repurchase scheme can increase both earnings per share and gearing

C
Miller and Modigliani argued that the financing decision is more important than the dividend decision

D
Shareholders usually have the power to increase dividends at annual general meetings of a company


(ACCA F9 Financial Management December 2014)
19.
Andrew Co is a large listed company financed by both equity and debt.

In which of the following areas of financial management will the impact of working capital management be smallest?

A
Liquidity management

B
Interest rate management

C
Management of relationship with the bank

D
Dividend policy


(ACCA F9 Financial Management September 2016)


Additional Examination Style Questions

Question 4
AB and YZ both operate department stores in Hong Kong. They operate in similar markets and are generally considered to be direct competitors. Both companies have had similar earnings records over the past ten years and have similar capital structures. The earnings and dividend record of the two companies over the past six years is as follows:

	
	AB
	YZ

	Year to 31 March
	EPS

cents
	DPS

cents
	Average share price
	EPS

cents
	DPS

cents
	Average share price

	2006
	230
	60
	2,100
	240
	96
	2,200

	2007
	150
	60
	1,500
	160
	64
	1,700

	2008
	100
	60
	1,000
	90
	36
	1,400

	2009
	– 125
	60
	800
	– 100
	0
	908

	2010
	100
	60
	1,000
	90
	36
	1,250

	2011
	150
	60
	1,400
	145
	58
	1,700


Note: EPS = Earnings per share and DPS = Dividends per share

AB has had 25 million shares in issue for the past six years. YZ currently has 25 million shares in issue. At the beginning of 2010 had a 1 for 4 rights issue. The EPS and DPS have been adjusted in the above table.

The Chairman of AB is concerned that the share price of YZ is higher than his company, despite the fact that AB has recently earned more per share than YZ and frequently during the past six years has paid a higher dividend.

Required:

(a)
Discuss:

(i)
the apparent dividend policy followed by each company over the past six years and comment on the possible relationship of these policies to the companies market values and current share prices; and

(ii)
Whether there is an optimal dividend policy for AB that might increase shareholder value.



(12 marks)

(b)
Forecast earnings for AB for the year to 31 March 2012 are $40 million. At present, it has excess cash of $2.5 million and is considering a share repurchase in addition to maintaining last year’s dividend. The Chairman thinks this will have a number of benefits for the company, including a positive effect on the share price.

Advise the Chairman of AB of

(i)
how a share repurchase may be arranged;

(ii)
the main reasons for a share repurchase;

(iii)
the potential problems of such an action, compared with a one-off extra dividend payment, and any possible effect on the share price of AB.



(13 marks)

Note: A report format is not required for this question.


(Total 25 marks)
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